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MATHEMATICS TEST
Time— 170 minutes
66 Questions

# o
Directions: Each of the qugsiions or incomplete statements below is followed by five suggested answers or comple-
tions, In each case, select the one that is the best of the choices offered and then mark the corresponding space on the
angwer sheet,

Computation and scratchwork may be done in this examination book.

Note: In this examination:

(1} All logarithms are to the base e unless otherwise specified.
(2) The set of all x such that a £ x < b is denoted by [a, b].

LA f{g(x)) =5 and f(x) = x + 3 forallreal x, then g(x) =
5

(Ay x — 3 By 3 —x (8] T 43 (D) 2 (E) 8
tan x
2 _1.1_'0 cosx
(A) —o ) -1 (© 0 O) 1 () +
3. .f;ogde’xdx =
A (8) 8 ©Y ) 5 (B) log 4 ~ 4

4. Let 4 ~ B denote {xed: x¢ B} If (4 — B)\U B = 4, which of the following must be true?

(A) B isempty

(B) A < B

)y B g A

(D) (B ~A)YUA =B
(E) None of the above

GO ON TO THE NEXT PAGE.
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I f(x) = Ix] + 3x? forall real x, then ' (—1) is

3
iA) w7 (B} -—-5 (5 m 7 (E) nonexistent
M i T b+ ; , -
6. For what value of & is the value of jb {x* 4+ x)dx a minimum?
(A) O (B) —1 Q) -2 (D) -3 (E) —4
7. In how many of the eight standard octants of xyc-space does the graph of z = ™%/ appear?
{A) Cne (B) Two {C) Three (D) Four (E) Eight

. Suppose that the function f is defined on an interval by the formula f(x) = /tan’x — 1. If £ is continuous,

which of the following intervals could be its domain?

32

GO ON TO THE NEXT PAGE.



1 X _
9. ¢ f3=
s log 2 ~ log 2
® -3 ®3F (© 2E5=E R (5) <52
10. If f7{x) = f(x) forall real x, and if f/(0) = G and f'(0) == —1, then f{x) =
(A) | —e* (B) e¥ — 1 Cye "t —1 D) e~ * (E) —e*
3
I If ¢(x, y, 2) = x* + 2xp + xz%, which of the following partial derivatives are identically zero?
52
L 28
oy
&
fl. F%dy
¢
i 33y

(A) HI only

{B) [and ]Il only
(C) Iand il only
(D) 11 and IIT only
(E) L 11, and HI

GO ON TO THE NEXT PAGE.
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i sin2x i
12 T ol ¥

(A) -2 - ® -] © 0 ® (E) 2

{A) 0 (B) 1 ) e D)= {E) +o0

14. At a 15 percent annual inflation rate, the value of the dolar would decrease by approximately one-half every

5 years. At this inflation rate, in approximately how many years would the dollar be worth i (HHI) 000 of its present

value?

(A) 25 (B) 50 75 (D) 160 (E) 125

GO ON TO THE NEXT PAGE.
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15.

Let fix)= L I + dl for all rea! x. An equation of the line tangent to the graph of f at the point (2,/(2)) is

(A) y=1=5x - 2) (B) y ~ Arctan 2 = (x — 2) (C) y ~ 1= (Arctan 2) (x — 2)

e

(D) y — Arctan 2 + 5(\1 2) By p ~ % = (Arctan 2} {x — 2)

16.

Let f(x) = &% (x) and A'(x) = —g’ (x)h(x) forall real x Which of the following must be true?

(A} / is a constant function.

(B) f is a linear nonconstant function.
{C) g is a constant function,

(D) g is a linear nonconstant function.
(E) None of the above

17.

- sinz(Arccos 1—’3) =

n e
!wcos6 I~+~wsz4

I — cos %i
(B} (8

24 6 24 E) -~
2 2 2 () 12

=k ]

{(A)

GO ON TO THE NEXT PAGE.
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‘ u fx) = i (—1)7 x2 féx{éfl_'j;e(ﬂ, 1), then f'(x) =

18
) sin s . C —2x__ X
(f&} o (B)_COS © 5 ®) (1 + x%? ® (I — 2x)
19. Which of the following is the general solution of the differential equation

(A) cre! + cate’ + cyt%e!

(B) cre”! + cate™ + 57!
(C) cre! — e’ + c;!eﬂ
(DY ¢ ¢! + e + e

() cre? + cate™

GO ON TO THE NEXT PAGE.
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20. ;Which of the following double integrals represents the volume of the solid bounded above by the graph of

z =6 — x? ~ 2p® and bounded below by the graph of z = —2 + x? + 22?7

': - Jr’=\/§” ’ ¥
() 45;0 J;,,,o (8 ~ 2x% ~ 4y?) dy dx

V=i~ xdy2

X=2
— 2 — 4yt
® §._, Iy-wm (8 — 2x* — 4y%) dy dx

=z fﬁm

4
af
) -ry=o x=- /1= 132 dx dy

re J3 X=2 4
® §. 7 [, @27 = &%) dxdy

)

® 27 [ g -2 - 4 acay

=0

21,

Let a bea number in the interval {0, I} and let f be a function defined on [0, 1] by

_Ja? if0sx<a,
flx) = {ax otherwise.

I
Then the value of a for which _fﬂf {x}dx =1 is

)1

o

¥ ®) 1 (©

(E) nonexistent

42

GO ON TO THE NEXT PAGE.




22,

If b and c areelementsinagroup G, andif &° = ¢ = ¢, where e is the unit element of G, then the inverse

of b%ch%? must be e
(A) bicc (B) bic?b’c (C) c2bicp? (D) chc%* (E) chcb?
23, Le'i J/ be a real-valued function continuous on the closed interval [0, 1] and differentiable on the open interval (0, 1)
with f(0) = 1 and f(1) = 0. Which of the following must be true?
I. There exists x € (0, 1) such that f(x) = x.
II. Thereexists x e (0, 1) such that /" (x) = —1.
I f(x) >0 forali xel0, ).
{A) Fonly (B) I only (C) and I only (D) 11 and IiI only (E) 1,11, and !II
24. If 4 and B are events in a probability space such that 0 < P(4) = P(B) = P(4 MB) < 1, which of the
followsing CANNOT be true?
(A) .+ and B are independent. (B} A isa proper subset of B. {Cy A #B
(D) sNB = 4UB (E) P(AYP(B) < P(ANB)
GO ON TO THE NEXT PAGE.
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235.

Let f be a real-valued function with domain {0, 1]. If there is some K > 0 such that Sx)—fON s Klx —y|
forall x and y in|0, 1], which of the following must be true?

:(A) / is discontinuous at each point of (0, 1).

(B) f is not continuous on (0, 1), but is discontinuous at only countably many points of (0, 1).
C) [ is continuous on (0, 1), but is differentiable at only countably many points of (0, 1.
(D) f is continuous on (0, T), but may not be differentiable on (0, 1).

(E) f is differentiable on (0, I).

26. Let i =(1,0,0), j = (0,1,0), and k = (0,0, 1). The vectors v, and v, are orthogonal if vi=i+j—k

and v, =

Ai+j—k Bi-j+k (Cyi+ X D)yj-—k (B)i+j
27. 1f the curve in the yz-plane with equation z = f{(y) is rotated around the y-axis, an equation of the resulting

surface of revolution is

Ay X2+ 22 =/ (P

(B) x*+ 27 =f(p)

Q) x*+ 2 =110

D)y + 22 =]

(E) y* + 27 = [f(x)]

GO ON TO THE NEXT PAGE.
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28 Let 4 and B be subspaces of a vector space V. Which of the following must be subspaces of V7

EA+B={a+b aecA and be B}
I. AUB LA
M. ANns -0
IV {xeV: xé¢gd) ..

{A) Tand Il only

(B) [ and N1 only
(C) HI and IV only
(D) I, II, and TII only
(E} LI, HI, and IV

0 am v (o4
- Z k 2k

Hemeo
(A) O {B) ! (Cy 2 (D) 4 (E) +w
0. If fx),. . ,xy) = xixj, then g—- o=
l£i<jsn i

" n— i
(A) nt (B) Z XX (&) (x; + xj) (D} Z X; (E) Z X

Isi<j<n lgi<j<n i=l J=1

GO ON TO THE NEXT PAGE.



3 If _ V- for0sxx<1
=2 ri<x o,
L
then  f(x)dx is
A) 3
J2

B -

© 3

o1+

(E) undefined

32 Let R denote the field of real numbers, @ the field of rational numbers, and Z the ring of integers. Which of the

following subsets F; of R, 1 < i < 4, are subfields of R?
Fi={a/b: a,b e Z and b is odd}
Fr={a+b/2: a,b e Z)
Fy = {a +bﬁ: a,b e Q}
Fy = {a +b\4/’2—: a,be Q}

(A) No Fj is a subfield of R.

(B) F; only

(C) F, and Fy only

(D) F\, F3, and F; oniy

(E) £\, Fs, F3, and Fy

GO ON TO THE NEXT PAGE.
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33.01f n apples, no two of the same weight, are lined up at random on a 1able,
lined up in order of increasing weight from left to right?

what is the probability that they are

PP | ] | !
) 3 (©) (D) 5 (E) (,—,)"
34 ”f; [Terar =
(A) e~ (B) 2¢7%° (C) 2¢-%* (D) x2%~¥° (E) 2xe~~*
GO ON TO THE NEXT PAGE.
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35. Let [ be a real-valued function defined on the set of integers and satisfying f(x) = % flx — 1) + %f{x + .
Which of the following must be true?
© 1. The graph of f is a subset of a line.
1L f is strictly increasing. 7
fIL. f is a constant function. " ™.
{A) None
{(B) Tonly
{C) H only
(D) Tand 11
(E) 1and Il

36. If F is a function such that, for all positive integers x and y, F(x, I) = x + 1, F{1,y) = 2y, and
Flx + 1, y + 1) = F(F{x, y + 1), y), then F(2,2) =

(A) 8 (B) 7 ) 6 (D) 5 (E) 4
a b ¢ da 3b 3¢
37, If det (d e _f) = 9  then det (g-4a h—4b k—-4c) =
g h k d e s
(Ay —i08 (B)y —27 () 3 (D) 12 (E) 27

GO ON TO THE NEXT PAGE.
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m 3% [(31)3 (3:’)] e
im = 2y = =
Henoo n n o
) —% (B) 0 (© 3 ®) 3 ® %
39. For a real number x, log(! + sin 2zx) is not a real number if and only if x is
(A) an integer
(B) nonpositive
2n ~ 1 .
{(C) equal to 5 for some integer n
4n — 1 . ‘
(D) equalto — for some integer n
(E) any real number
40. If x, y, and z are selected independently and at random from the interval [0, 1], then the probability
that x = yz is
3 2 1 v 1 i
) 3 (B) 5 © 3 (D) 3 ® g

GO ON TO THE NEXT PAGE.
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. If, 4= (‘ _%), then the setofali vectors X for which 4X = X is

a=0and b is a}bi&a}y}

g) a is arbitrary and b = 0}

a = —b and b is arbitrary}

(E: the empty set

42,

What is the greatest value of b for which any real-valued function f that satisfies the following propertics must
also satisfy f(1) <57

(i) f is infinitely differentiable on the real numbers;
@) £ =1, f'(0) =1, and f"(0) = 2; and
(i) 1/"(x)i < b foraill x in[0, 1].

(A) 1 (B) 2 Q)6 (D) 12 (E) 24

GO ON TO THE NEXT PAGE.
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43 Let n be an integer greater___t_he_in 1. Which of the following conditions guarantee that the equation

i n—1 . e
ix" = z apx' has at least one root in the interval (0, 1)?

n—t =
1. g > 0 and Z ai <1
i=0

n—|
II. @y > 0 and Z a; > 1
i=10

n—1
HIL a; < 0 and Z aj > 1
i={

{A) None
{(B) {only
(C) Il only
(D) HI only
(E) Tand INl

Plx + 3 + P(x — 3h) — 2P(x) -

44 If x is a real number and P is a polynomial function, then lim

Fr-+0 h?
(A} O (B) 6P'(x) (C) 3P"(x) (D) 9P"(x} (E) o
GO ON TO THE NEXT PAGE.
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:
45. Consider the system of equations
ax® + byl = g i
dx? + ey =1

d

are real constants and ae # bd. The maximum possible number of real solutions

where a, b, ¢, d, e, and f
(x, y) of the system is

(A) none (B) one (C) two (D) three (E) five

46 If x3 — x + 1 = ag + ay{x — 2) + aofx — 2)? + ay(x — 2)° for all real numbers x, then (ag. a1, @z, a) is

(A) (1% 0, wg)

®|) (1, -1, 0, 1)
(© (7.6,10, 1)
) (7,11, 12, 6)
(B) (7.1,6, 1)

GO ON TO fHE NEXT PAGE.

62




}

bl .

B

of (fgxdy —ydx is

:( A) n m _m__k

(B) 2n/a® + b*

{C) 2nab

(D) nab

b
(B) 57

47.7Let C be the ellipse with c;em,cr.‘ (0, 0), major axis of length 2a, and minor axis of length 2b. The value

48. Let G, denote the cyclic group of order n. Which of the following direct products is NOT cyclic?

(A) Gy
(B) Gy
) Giy
(D} G

=

G
Gy x Gs
G
Gy

X X X X

2 -
Gay ¥ Gy

_—
S

64

GO ON TO THE NEXT PAGE.




49, Let X be arandom variable with probability density function
: 3 R
f=d gt - =lsxsl,
0 otherwise.
Wiﬁat is the standard deviatishof X 7

30
(C) JE-—;

(A) 0 (B) :‘:)

(D) 7‘5—

() 1

50. The set of all points (x, y, z) in Euclidean 3-space such that

¥
=90

1

Fox )
o
L
P00

is

(A) a plane containing the points (1, 0, 0), (0, 1,0), and (0, 0, 1}

(B) a sphere with center at the origin and radius 1

(C) a surface containing the point {1, 1, 1)

(D) a vector space with basis [(1, 0, 0}, (0, 1, 0). (G, 0, 1)}
(E) none of the above

GO ONTO THE NEXT PAGE.
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51

Y
4

An automorphism ¢ of a ﬁeld F:s a one-to-one mapping of F onto itself such that ¢(a + &) = ¢(a) + ¢(b)
ar}d ¢lab) = ¢(a)g(b) for all a,beF. If F is the field of rational numbers, then the number of distinct

at}tomorphisms of Fis e

A 0 @ © 2 ) 4 (E) i

Let T be the transformation of the xy-plane that reflects each vector through the x-axis and then doubles the
vector’s length.

If A isthe2 x 2 matrix such that T([;]) | [;] for each vector [;] ,then A =
0 2
(A) [2 0]

(B)

- “
F S
2 2
(<)
VNG
2 2

GO ON TO THE NEXT PAGE.
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53

¢

Let r >0 andlet C bethecircle |z| = r in the complex plane. If P is a polynomial function,
|2 .
then |, Py dz =

(A) 0

(8) nr?
(C) 2ni
(D) 2nP(0)
(E) FP(r)

54

If f and g are real-valued differentiable functions and if f'{x) 2 g'(x) forall x in the closed intervai [0, 1,
which of the following must be true?

(A) f(0) = g(0)

(By f{) = g(1)

(C) (1) —g(h) 2 /(0) — g(0)

(D) / — g has no maximum on [0, 1]

/

{E) P is a nondecreasing function on [0, 1].

55.

Let p and g be distinct primes. There is a proper subgroup ./ of the additive group of integers which contains

exactly three elements of the set {p, p + g, pg, p9, ¢¥} Which thrce elements are in J?

(A) pg.p9, q7
B p +q.pq.p7
(C) p.p +4q.pq9
(D) p.pY, 47
(E} p,pq, p?

GO ON TO THE NEXT PAGE
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F‘brasubset S of a topological space X, let cl{S) denote the closure of § in X, and let

56.
S = {x: xec{§ — {x})} denote the derived set of S. f A and B are subsets of X, which of the following
statements are true? ST
L (AUBY —AUB o
L (ANBY=4'NB
ITL. If A’ is empty, then -A-isclosed in X.
IV If 4 isopenin X, then A'isnotempty.
(A) I and Il only
(B) Iand IIf only
{C) I and IV only
(D) I, 11, and 111 only
(Ey 1,1, Iil, and IV
57 Consider the following procedure for determining whether a given name appears in an alphabetized list of n names.
Step 1. Choose the name at the middle of the list (if n = 2k, choose the kth name); if that is the given name,
you are done; if the list is only one name long, you are done. If you are not done, go to Step 2.
Step 2. If the given name comes alphabetically before the name at the middle of the list, apply Step 1 to the first
half of the list; otherwise, apply Step | to the second half of the list.
If n is very large, the maximum number of steps required by this procedure is close to
(A) n
(B) n?
{C) logan
(D) niogzn
(E) n’logyn :
GO ON TO THE NEXT PAGE,
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'

58. W__hich of the following is an eigenvaiue of the matrix

Py 1
L+i -2

over the complex numbers? -

(A) 0 (B) | (€ J6 (D) i (E) 1+

59.

Two subgroups H and K of a group G have orders 12 and 30, respectively. Which of the following could NOT
be the order of the subgroup of G generated by H and K7

(A) 30 {B) 60 (C) 120 (D) 360 (E) Countable infinity

60.

Let A and B be subsets of aset M andlet Sp = {4, B}. For i = 0, define 5j+ inductively to be the
collection of subsets X of M thatare oftheform CUD,CND, or M — C (the complement of C in M),

where C,DeS; Let § = ij S; What is the largest possible number of elements of §7
i=0

(A) 4

(B) 8

(Cy 15

(D) 16

(E) S may be infinite.

GO ON TO THE NEXT PAGE.
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61 A city has square city blocks formed by a grid of north-south and east-west streets, One automobile route from
: City Hall to the main firehouse is to go exactly 5 blocks east and 7 blocks north. How many different routes from
: City Hall to the main firehouse traverse exactly 12 city blocks?

“(A) 5-7 o
7

51
L 12!
(C) 715]

(B)

(D} 2[2

(Ey 713!

62. Let R be the set of real numbers with the topology generated by the basis {[a, b): a < b, where a,be R} I X
is the subset [0, 1] of R, which of the following must be true?

[. X is compact.
II. X is Hausdorff.
III. X 1s connected.

{A) Tonly
(B) M only
(C) i only
(D) Tand I
(E) Hand il

GO ONTO THE NEXT PAGE.
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63

‘ "“Lct R be the circular region of the xy-plane with center at the origin and radius 2

Efl’hen LJ e~ N+ Py dy: =

(A) 4n e
(B) ne"“ ..__.__.55%”:__;:;“...'
(C) 4ne™

(D) (1 — e

(E) dnle — e

64

Let V be the real vector space of real-valued functions defined on the real numbers and having derivatives of all
orders If D is the mapping from V into V' that maps every function in ¥ 1o its derivative, what are all the
eigenvectors of D?

{A) All nonzero functions in ¥

(B) All nonzero constant functions in V¥

(C) All nonzero functions of the form ke™¥, where k and 1 are real numbers

(D} All nonzero functions of the form 2 c;.xf, where k > 0 and the ¢;’s are real numbers

i=0
{Ey There are no gigenvectots of 7.

GO ON TO THE NEXT PAGE.
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65.! If J is a function defined by a complex power series expansion in z — @ which converges for |z —a] < 1 and
dwerges forjz —agi>1, whlch of the following must be true?
(A) S (z) is analytic in the open umt dlsk with center at a
E(B) The power series for j(z' -i~_ a) converges for |z 4+ al| < 1.
{C) f'@) =0 '
(D) jc f(2)dz = 0 for any circle € in the plane.
(E) f(:) hasapoleoforder |l at z = a.

66. Let n be any positive integerand 1 € x; < x; < .. < Xy, S 21, whereeach x; is an integer. Which of the
following must be true?

I. Thereis an x; that is the square of an integer.
I1. Thereis an i such that xj., = x; + 1.
ill. Thereis an x; that is prime.

(~} Tonly
(B IT only
(C) Tand 1
(D) Iand III
(E) iTandIll

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS TEST.
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24

to eliminate one or more of the answer choices, your chance of getting the
right answer is improved, and it may be to your advantage to answer such a

question.

@ Record all answers on your answer sheet. Answers recorded in your test book
will not be counted. -

® Do not wait until the last five minutes of a testing session to record answers
on your answer sheet.

HOW TO SCORE YOUR TEST (GR9367)

Total Subject Test scores are reported as three-digit scaled scores with the third
digit always zero. The maximum possible range for all Subject Test tota] scores is
from 200 to 990. The actual range of scores for a particular Subject Test, however,
may be smaller. The possible range for GRE Mathematics Test scores is from 400
to 990. The range for different editions of a given test may vary because different
editions are not of precisely the same difficulty. The differences in ranges among
different editions of a given test, however, usually are small. This should be taken
into account, especially when comparing two very high scores. In general,
differences between scores at the 99th percentile should be ignored. The score
conversion table provided shows the score range for this edition of the
test only.

The work sheet on page 25 lists the correct answers to the questions. Colamns
are provided for you to mark whether you chose the correct (C) answer or an
incorrect (I) answer to each question. Draw a line across any question you
omitted, because it is not counted in the scoring. At the bottom of the page, enter
the total number correct and the total number incorrect. Divide the total incorrect
by 4 and subtract the resulting number from the total correct. This is the adjust-
ment made for guessing. Then round the result to the nearest whole number. This
will give you your raw total score. Use the total score conversion table to find the
scaled total score that corresponds to your raw total score.

Example: Suppose you chose the correct answers to 48 questions and incor-
rect answers to 15. Dividing 15 by 4 yields 3.75. Subtracting 3.75 from 48 equals
44.25, which is rounded to 44. The raw score of 44 corresponds to a scaled score
of 870.



WORK SHEET for the GRE Mathematics Tést, Form GR9367
Answer Key and Percentages® of Examinees Answering Each Question Correctly

QUESTION TOTAL QUESTION TOTAL
Number Answer | P+ | C Mumbsr Answer | P+ | € |
1 D 86 35 3] 76
2 C 95 a7 B 66
3 A §4 3B D 23
4 C 76 39 o 69
5 A 70 40 A 40
& B 86 41 B8 75
7 3] BO 42 D 31
a B 76 43 E 17
9 E 74 A4 D 3%
10 A 94 45 c 53
11 c 82 46 g a3
12 E 69 47 C 18
13 A 65 48 D 58
14 D 62 49 D 28
15 D 56 50 A 38
16 A 63 5% 8 37
17 g 89 52 D 72
18 D 48 53 A 44
19 A 57 54 c 57
20 8 52 55 E 28
21 o 79 56 B 17
22 E 73 57 C 72
23 c 61 58 o] 85
24 A 51 50 A 49
25 D 33 60 D 22
26 c 69 &1 o} 52
27 A 59 62 B 10
28 B8 45 63 D 49
29 E 68 64 C 50
30 E 56 65 A 60
31 c 64 66 8 53
a2 B 36

a3 c B8

34 E 60

35 B a5

Correct {C)
Incorrect (1)

Total Score:
C-d=

Scaled Score (88) =

*Tha P+ coiumn Indicates the percent of GRE Mathematics Test examinees who answerad each
question correctly; it 35 based on a sample of February 1893 examinees selsctad to represent
! all GRE Mathematics Test examinaes tasted batweaen Qctober 1, 1996 and Seplember 30, 1899



Score Conversions and Percents Below®
for GRE Mathematics Test, Form GR9367

TOTAL SCORE .
Raw Sgore  Scaled Score % Raw Score Scalad Scora %
5566 890 B2 26 630 a3
54 980 81 25 680 kH
53 a70 80 24 670 30
52 960 79 23 650 28
51 850 77 22 650 26
50 930 74 21 640 24
48 920 72 20 630 23
48 910 71 19 620 22
47 200 69 18 600 18
46 840 87 17 £80 17
45 880 66 16 580 15
44 870 64 15 570 13
43 BBO &2 14 560 12
4z 850 B1 13 550 1
41 840 59 12 540 10
40 830 57 1 530 8
39 820 55 10 520 7
38 B10 54 g 510 6
a7 800 52 8 500 5
36 780 51 7 480 4
35 780 49 ] 480 2
34 770 47 5 470 2
a3 780 45 4 460 ]
32 750 43 3 450 1
at 740 41 2 440 0
a0 730 39 1 430 ]
28 720 38 0 420 0
28 710 a7
27 700 35

*Parcent scoring befow iha scaled score is based on the performance of 7,002
examinges who took the GRE Malhematics Tast batwesn Oclober 1, 1996 and
September 30, 1999 This percent below information was used for score reporis
during the 2000-01 testing year



EVALUATING YOUR PERFORM

NCE (GR9367)

Now that you have scored your test, you may wish to compare your performance
with the performance of others who took this test. A worksheet and table are
provided, both using performance data from GRE Mathematics Test examinees.

The worksheet (on page 25) is based on the performance of a sample of the
examinees who tool this particular test in February1993 This sample was
selected to represent the total population of GRE Mathematics Test examinees
tested between October 1996 and September 1999. On the work sheet you used
to determine your score is a column labeled “P+" The numbers in this column
indicate the percent of the examinees in this sample who answered each question
correctly. You may use these numbers as a guide for evaluating your performance
on each test question.

The table on page 26 contains, for each scaled score, the percentage of
examinees tested between October 1996 and September 1999 who received lower
scores. Interpretive data based on the scores earned by examinees tested in this
three-year period were used by admissions officers in 2000-2001. These percent-
ages appear in the score conversion table in a column to the right of the scaled
scores. For example, in the percent column opposite the scaled score of 870 is the
number 64. This means that 64 percent of the GRE Mathematics Test
examinees tested between October 1996 and Septernber 1999 scored lower than
870. To compare yousself with this population, look at the percent next to the
scaled score you earned on the practice test. This number is a reasonable indica-
tion of your rank among GRE Mathematics Test examinees if you followed the
test-taking suggestions in this practice book.

It is important to realize that the conditions under which you tested yourself
were not exactly the same as those you will encounter at a test center. It is
impossible to predict how different test-taking conditions will affect test perfor-
mance, and this is only one {actor that may account for diffezences between your
practice test scores and your actual test scores. By comparing your performance
on this practice test with the performance of other GRE Mathematics Test
examinees, however, you will be able to determine your strengths and weak-
nesses and can then plan a program of study to prepare yourself for taking the
GRE Mathematics Test under standard conditions.
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